



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering



Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4				4				0		2			3					3			3					Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI				
			Compiler Design[BTCO13701]				Software Engineering[BTCO13702]				Indian Constitution[BTMD17701]		Project-[BTCO16706]			Cloud Computing[BTCO14704]					Professional Elective-V BTCO14708/BTCO14709 Deep Learning/Big Data Analytics			Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries																			
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code												Course Name	CAT	TEE	Course Grade
1	ET21BTCO103	Vansh Patel	BC	AB	CD	BB	BC	BC	AA	CC	AB	BB	CC	CC	AB	BC	BB	CC	AB	BC	BB	BB	BTCO14708	Deep Learning	CC	CC	CC	BTEL15701	Renewable Energy Sources	CC	CD	CC	136	19	7.16	19	0	Pass	0	148	148	1013	6.84
2	ET22BTCO001	Agrawal Moksh Riteshkumar	AB	AB	BB	AB	AB	AA	AB	AA	AA	AA	BC	BC	AA	AA	AA	AB	AA	AB	AB	AA	BTCO14708	Deep Learning	AA	AB	AA	BTEL15701	Renewable Energy Sources	BC	BC	BC	177	19	9.32	19	0	Pass	0	148	148	1304	8.81
3	ET22BTCO003	Anghan Kahan Sanjaybhai	AB	AB	BB	BB	AB	AA	BB	BB	AB	AB	AB	AB	AB	BB	AB	AA	AA	AA	BB	AA	BTCO14709	Big Data Analytics	AB	AB	AB	BTCL15701	Fundamentals of Climate Change	AA	BB	AB	174	19	9.16	19	0	Pass	0	148	148	1321	8.93
4	ET22BTCO004	Anmol Aafre	AA	AA	AB	AB	AA	AB	AB	AA	AB	AA	BB	BB	BB	AB	AB	AB	AA	AB	AB	AA	BTCO14709	Big Data Analytics	AB	AA	AA	BTCL15703	Smart Transportation Planning	AA	AB	AA	188	19	9.89	19	0	Pass	0	148	148	1366	9.23
5	ET22BTCO005	Arun Verma	AB	AB	CD	BB	BB	BC	BB	CC	AA	BB	CD	CD	BC	CD	CC	BB	AB	BB	BB	AB	BTCO14709	Big Data Analytics	BB	CC	BC	BTEL15701	Renewable Energy Sources	CD	CD	CD	139	19	7.32	19	0	Pass	0	148	148	1012	6.84
6	ET22BTCO006	Aum Kiran Patel	AB	AB	AB	AA	AA	BC	AA	AB	AB	AB	CC	CC	AA	AB	AA	AB	AA	BB	AB	AB	BTCO14709	Big Data Analytics	CC	BB	BB	BTME15701	Renewable Energy Engineering	BB	BB	BB	171	19	9.00	19	0	Pass	0	148	148	1284	8.68
7	ET22BTCO007	Balar Anshkumar Sunilbhai	AA	AA	AB	AA	AA	AA	AA	AA	AB	AA	BC	BC	AA	AA	AA	AA	AA	AA	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTCL15701	Fundamentals of Climate Change	AA	BB	AB	187	19	9.84	19	0	Pass	0	148	148	1443	9.75
8	ET22BTCO008	Bhungalaya Nil Rajeshbhai	AA	BB	BB	BB	AB	AB	AA	BC	AB	AB	BC	BC	AB	BB	AB	AB	AB	AB	BB	AB	BTCO14709	Big Data Analytics	AB	BB	AB	BTCL15701	Fundamentals of Climate Change	AA	CD	BC	165	19	8.68	19	0	Pass	0	148	148	1220	8.24
9	ET22BTCO009	Boghani Harsh Bhadeshbhai	AB	AB	AB	AB	AB	AB	AA	BB	AB	AB	CD	CD	AB	AA	AA	AA	AA	AA	AB	AA	BTCO14709	Big Data Analytics	AB	AB	AB	BTCL15701	Fundamentals of Climate Change	AA	CC	BB	173	19	9.11	19	0	Pass	0	148	148	1361	9.20
10	ET22BTCO011	Chapadia Vansh Dipakkumar	AB	AA	BB	AB	AB	AA	AA	BB	AB	AB	BC	BC	AB	AB	AB	AA	AA	AB	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTME15701	Renewable Energy Engineering	BB	BB	BB	174	19	9.16	19	0	Pass	0	148	148	1269	8.57
11	ET22BTCO012	Chapatwala Harpal Vinay	AA	AB	AB	AA	AA	AA	AA	AB	AA	AA	AB	AB	AB	BB	AB	AA	AA	AA	AA	AA	BTCO14709	Big Data Analytics	AA	AB	AA	BTCL15703	Smart Transportation Planning	AB	AB	AB	185	19	9.74	19	0	Pass	0	148	148	1371	9.26
12	ET22BTCO014	Chaudhari Vinitkumar Girishbhai	BB	AB	CC	AB	BB	BB	AA	BC	AA	AB	CC	CC	AB	AB	AB	BB	AA	BB	AB	AB	BTCO14709	Big Data Analytics	BC	AB	AB	BTME15701	Renewable Energy Engineering	BC	CD	CC	158	19	8.32	19	0	Pass	0	148	148	1139	7.70
13	ET22BTCO015	Chaudhari Visheshkumar Vinodbhai	BC	AB	CD	BC	BC	AB	AB	CC	AB	BB	CD	CD	BB	BB	BB	BB	AA	BB	BB	AB	BTCO14709	Big Data Analytics	CC	BC	BC	BTEL15701	Renewable Energy Sources	CD	CD	CD	139	19	7.32	19	0	Pass	0	148	148	1126	7.61
14	ET22BTCO016	Chauhan Chiragkumar Chandubhai	AB	AA	BB	AB	AB	AA	AA	BC	AB	AB	BC	BC	AA	AB	AA	AB	AA	AB	AB	AA	BTCO14708	Deep Learning	AB	AA	AA	BTEL15701	Renewable Energy Sources	BC	CD	CC	170	19	8.95	19	0	Pass	0	148	148	1356	9.16
15	ET22BTCO017	Chauhan Dhyey Ramnikbhai	BB	BB	BC	BB	BB	AB	BC	AA	AB	BB	BB	BB	BC	BB	AB	AB	BC	BC	BB	BTCO14709	Big Data Analytics	BC	BB	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	150	19	7.89	19	0	Pass	0	148	148	1126	7.61	
16	ET22BTCO018	Chauhan Tisha Pareishbhai	AA	AB	BB	AA	AA	AB	AA	BB	AB	AB	CC	CC	AB	BB	AB	AA	AA	BB	AB	AB	BTCO14708	Deep Learning	AA	BB	AB	BTME15701	Renewable Energy Engineering	BB	AA	AA	178	19	9.37	19	0	Pass	0	148	148	1300	8.78
17	ET22BTCO019	Chovatiya Krish Dilipbhai	AB	AA	CC	BB	BB	AA	BB	AB	AB	CC	CC	AA	AB	AA	AB	AA	AA	AB	AA	BTCO14708	Deep Learning	BB	BC	BB	BTEL15701	Renewable Energy Sources	BC	BC	BC	163	19	8.58	19	0	Pass	0	148	148	1237	8.36	
18	ET22BTCO020	Dalal Mo. Ruhaan Ahmedbusen	AA	AA	BB	AA	AA	BC	AA	BC	AB	BB	CC	CC	AA	AA	AA	AA	AA	AB	AB	AA	BTCO14708	Deep Learning	AB	BB	AB	BTCL15701	Fundamentals of Climate Change	AB	CC	BB	173	19	9.11	19	0	Pass	0	148	148	1270	8.58
19	ET22BTCO021	Dangar Yash Karshanbhai	AA	BB	BB	BC	AB	AB	AB	AB	AB	AB	BB	BB	AB	AB	AB	BB	AB	AB	AB	AB	BTCO14709	Big Data Analytics	AB	AB	AB	BTCL15701	Fundamentals of Climate Change	AB	BC	BB	168	19	8.84	19	0	Pass	0	148	148	1314	8.88

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

(Handwritten signatures and marks)



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering



Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4					4					0		2			3					3			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bldg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI							
			Compiler Design[BTCT013701]					Software Engineering[BTCT013702]					Indian Constitution[BTMD17701]		Project-[BTCT016706]			Cloud Computing[BTCT014704]					Professional Elective-V BTCT014708/BTCT014709 Deep Learning/Big Data Analytics														Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries						
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT												TEE	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade
20	ET22BTCT0022	Deepkumar Gadhiya	AA	AA	AB	AB	AA	AB	AB	BC	AB	AB	CD	CD	AA	AA	AA	AA	AA	AA	AB	AA	BTCT014708	Deep Learning	AB	AB	AB	BTCL15703	Smart Transportation Planning	BC	BC	BC	174	19	9.16	19	0	Pass	0	148	148	1390	9.39
21	ET22BTCT0023	Deeya Parmar	AA	AA	BC	BC	AB	BB	AB	BB	AB	AB	BC	BC	AB	BC	BB	AA	AA	AB	AB	AA	BTCT014709	Big Data Analytics	BB	BC	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	160	19	8.42	19	0	Pass	0	148	148	1240	8.38
22	ET22BTCT0024	Desai Asmi Jayeshbhai	AA	AB	AB	AB	AA	AA	AB	AB	BB	AA	BB	BB	AB	BC	BB	AA	AA	AA	AB	AA	BTCT014709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	CC	BB	BB	177	19	9.32	19	0	Pass	0	148	148	1309	8.84
23	ET22BTCT0025	Desai Divyam Ajaybhai	AB	AA	CD	AB	BB	AB	AA	CC	AB	BB	CD	CD	AA	BB	AB	AA	AB	BB	BB	AB	BTCT014708	Deep Learning	BB	CC	BC	BTCL15703	Smart Transportation Planning	CC	BB	BB	154	19	8.11	19	0	Pass	0	148	148	1138	7.69
24	ET22BTCT0026	Desai Parva Mitulkumar	AA	BB	BC	BB	AB	AB	BB	AA	AB	AB	BC	BC	AB	CC	BB	AB	AA	AB	AB	AA	BTCT014708	Deep Learning	BC	CC	BC	BTEL15701	Renewable Energy Sources	CD	CD	CD	154	19	8.11	19	0	Pass	0	148	148	1167	7.89
25	ET22BTCT0027	DESAI PRATHAM DHARMESHBHAI	AB	AA	BB	AA	AB	AB	BB	AA	AB	AB	BC	BC	AA	AA	AA	AB	AB	AB	AB	AB	BTCT014709	Big Data Analytics	AB	BB	AB	BTEL15701	Renewable Energy Sources	CC	BC	BC	167	19	8.79	19	0	Pass	0	148	148	1358	9.18
26	ET22BTCT0028	Dhyey Patel	AA	AB	BB	AA	AA	BB	AB	AB	AA	AB	CC	CC	AB	AB	AB	AA	AA	AB	AB	AA	BTCT014708	Deep Learning	AB	BB	AB	BTCL15703	Smart Transportation Planning	BB	AB	AB	178	19	9.37	19	0	Pass	0	148	148	1200	8.11
27	ET22BTCT0029	Dobariya Krish Rameshbhai	AB	BB	AB	BB	AB	BC	BB	AB	BB	AB	CD	CD	FF	AB	FF	BB	AB	BB	BB	AB	BTCT014709	Big Data Analytics	CC	BB	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	141	19	7.42	17	1	Fail	S7:1	148	146	1299	8.78
28	ET22BTCT0030	Dobariya Mitesh Vipulbhai	AA	AA	AB	BB	AA	BB	AA	AA	AB	AA	BC	BC	AA	AA	AA	AA	AB	AB	AB	AA	BTCT014709	Big Data Analytics	BB	AB	AB	BTEL15701	Renewable Energy Sources	BC	CC	BC	178	19	9.37	19	0	Pass	0	148	148	1398	9.45
29	ET22BTCT0031	Donga Niraj Vinodbhai	BB	AB	BB	AA	AB	AB	BC	AB	AB	AB	BB	BB	BB	AA	AA	AB	AA	BB	AB	AB	BTCT014709	Big Data Analytics	BB	BB	BB	BTEL15701	Renewable Energy Sources	BC	CD	CC	161	19	8.47	19	0	Pass	0	148	148	1270	8.58
30	ET22BTCT0032	Dudhat Kishan Sureshbhai	BB	BB	CC	AA	BB	BC	AB	CC	AB	BB	CC	CC	BB	AA	AA	BB	AB	BC	AB	BB	BTCT014708	Deep Learning	BB	CD	BC	BTEL15701	Renewable Energy Sources	CC	CC	CC	147	19	7.74	19	0	Pass	0	148	148	1276	8.62
31	ET22BTCT0033	Gajera Nikunj Rasikbhai	AA	AB	BB	AB	AB	BC	AB	BB	AB	AB	BC	BC	AB	BB	AB	BB	AA	BB	AB	AB	BTCT014709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	BC	BC	BC	165	19	8.68	19	0	Pass	0	148	148	1303	8.80
32	ET22BTCT0035	Gattani Prerna Ashokkumar	AA	AB	AA	AA	AA	AB	AA	AA	AB	AA	BC	BC	AB	AB	AB	AA	AA	AA	AA	AA	BTCT014709	Big Data Analytics	AA	AA	AA	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	AB	AB	185	19	9.74	19	0	Pass	0	148	148	1439	9.72
33	ET22BTCT0036	Gazdar Archi Pradeep	AA	AA	BB	AA	AA	AB	AA	AA	AA	AA	BC	BC	AA	AA	AA	AA	AA	AA	AA	AA	BTCT014709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	AA	AB	AA	190	19	10.00	19	0	Pass	0	148	148	1428	9.65
34	ET22BTCT0037	Gharsandiya Harshkumar Rakeshbhai	AB	AB	AB	AA	AA	AA	AA	AA	AA	AA	BC	BC	AB	AB	AB	AA	AB	AA	AA	AA	BTCT014708	Deep Learning	AB	AB	AB	BTEL15701	Renewable Energy Sources	CD	BB	BC	176	19	9.26	19	0	Pass	0	148	148	1428	9.65
35	ET22BTCT0038	Ghoghari Harsh Vijaybhai	AB	AA	AB	AB	AA	AB	AA	AB	AB	AA	BC	BC	AB	BB	AB	AA	AB	AA	BB	AA	BTCT014709	Big Data Analytics	AB	AA	AA	BTCL15701	Fundamentals of Climate Change	AA	BC	AB	185	19	9.74	19	0	Pass	0	148	148	1346	9.09
36	ET22BTCT0039	Golakiya Vansh Hareshkumar	AB	BB	AA	AB	AA	AB	AA	BB	AA	AB	BC	BC	AB	AA	AA	AA	AA	AB	AA	AA	BTCT014708	Deep Learning	AB	BB	AB	BTCL15703	Smart Transportation Planning	BC	BB	BB	177	19	9.32	19	0	Pass	0	148	148	1325	8.95
37	ET22BTCT0040	Goyani Meetkumar Rameshbhai	AA	BB	BC	BB	AB	BB	AA	BB	AB	AB	BC	BC	BB	AB	AB	AB	AA	AB	BB	AB	BTCT014709	Big Data Analytics	AB	BB	AB	BTCL15701	Fundamentals of Climate Change	AB	BC	BB	168	19	8.84	19	0	Pass	0	148	148	1266	8.55

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

D. Shrivastava

[Signature]

[Signature]

Pandurangam



Sarvajanik University
 Sarvajanik College of Engineering and Technology
 Bachelor of Technology in Computer Engineering
 Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result



Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4				4				0		2			3				3				3				Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Compiler Design[BTCO13701]				Software Engineering[BTCO13702]				Indian Constitution[BTMD17701]		Project-I[BTCO16706]			Cloud Computing[BTCO14704]				Professional Elective-V BTCO14708/BTCO14709 Deep Learning/Big Data Analytics				Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries																			
			CAT	CAP	TEE	TEP	CAT	CAP	TEE	TEP	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code	Course Name												CAT	TEE	Course Grade		
38	ET22BTCO041	Gupta Shubham Dineshbhai	AB	AB	BB	AA	AB	AA	AB	AB	AA	CC	CC	AB	BB	AB	AA	AA	BB	AB	AB	BTCO14708	Deep Learning	AB	BB	AB	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	AB	AB	175	19	9.21	19	0	Pass	0	148	148	1306	8.82	
39	ET22BTCO042	Hathiwala Parth Rakeshkumar	AB	AB	AB	AB	AB	AA	BB	AA	AB	CC	CC	BB	AB	AB	AB	AA	BB	AB	AB	BTCO14708	Deep Learning	BB	BC	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	BB	AB	168	19	8.84	19	0	Pass	0	148	148	1330	8.99	
40	ET22BTCO043	Italiya Dev Sudhirbhai	AA	AB	AB	BB	AA	AB	AA	AA	AA	BC	BC	AB	AA	AA	AA	AA	AB	AA	AA	BTCO14709	Big Data Analytics	AA	AB	AA	BTCL15701	Fundamentals of Climate Change	AA	BC	AB	187	19	9.84	19	0	Pass	0	148	148	1424	9.62	
41	ET22BTCO044	JAIWAL AAKASH VIJAY	BC	AB	NA	AB	FF	BC	AA	CD	AB	BC	CD	BB	BB	BB	AB	BB	BC	BB	BB	BTCO14708	Deep Learning	BC	FF	FF	BTCH15701	Safety, Health and Environment in Chemical Industries	CC	CC	CC	86	19	4.53	12	2	Fail	S6: 1, S7: 2	148	137	1008	6.81	
42	ET22BTCO045	Jariwala Anjali Nilesb	AA	AB	AA	AA	AA	BB	AA	AB	AA	BC	BC	AB	BB	AB	AA	AB	AB	AA	AA	BTCO14708	Deep Learning	AA	BB	AB	BTEL15701	Renewable Energy Sources	BC	BC	BC	176	19	9.26	19	0	Pass	0	148	148	1373	9.28	
43	ET22BTCO046	Jariwala Meet Parkin	AA	AA	AB	AA	AA	AA	AA	AA	AA	BB	BB	AB	AA	AA	AA	AA	AA	AA	AA	BTCO14708	Deep Learning	AA	AA	AA	BTCL15703	Smart Transportation Planning	AA	AB	AA	190	19	10.00	19	0	Pass	0	148	148	1466	9.91	
44	ET22BTCO047	Jhan Nimesh Modi	AA	AB	BB	AB	AB	BB	AA	AB	AA	AB	AB	AA	BB	AB	AA	AA	AB	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	AB	AA	AA	184	19	9.68	19	0	Pass	0	148	148	1391	9.40	
45	ET22BTCO048	Jikadara Tejkumar Rasikbhai	AA	AB	CC	AA	AB	BB	AB	AB	AB	BB	BB	AB	BB	AB	AA	AA	BC	AB	AB	BTCO14709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	BC	BC	BC	165	19	8.68	19	0	Pass	0	148	148	1379	9.32	
46	ET22BTCO049	Jogani Preet Viral	AA	AB	AB	BB	AA	AB	AA	AA	AA	BB	BB	AA	BB	AB	AA	AB	BB	AA	AA	BTCO14709	Big Data Analytics	AB	AA	AA	BTME15701	Renewable Energy Engineering	BB	BC	BB	182	19	9.58	19	0	Pass	0	148	148	1359	9.18	
47	ET22BTCO050	Kakadiya Harshil Sanjaybhai	AB	BB	BC	AB	AB	AB	BB	AA	AB	CC	CC	AB	BB	AB	BB	AB	AB	AB	AB	BTCO14708	Deep Learning	BC	CC	BC	BTME15701	Renewable Energy Engineering	BB	CD	BC	159	19	8.37	19	0	Pass	0	148	148	1234	8.34	
48	ET22BTCO051	Kankotiya Krishna Bharatbhai	AA	AB	BB	BB	AB	BC	AA	BC	BB	CD	CD	BB	BB	BB	BB	AB	BB	BB	AB	BTCO14709	Big Data Analytics	AB	AA	AA	BTME15701	Renewable Energy Engineering	BC	CD	CC	159	19	8.37	19	0	Pass	0	148	148	1140	7.70	
49	ET22BTCO052	Katariya Harshita Bharatbhai	AA	AB	BB	AA	AA	AB	BB	AB	AB	BC	BC	AB	BB	AB	AA	AA	BB	AB	AB	BTCO14708	Deep Learning	BB	CC	BC	BTEL15701	Renewable Energy Sources	CC	CC	CC	160	19	8.42	19	0	Pass	0	148	148	1277	8.63	
50	ET22BTCO053	Kevat Kuldeep Kailashbhai	AA	AA	BC	AA	AB	AA	AA	BB	AB	BC	BC	AB	AB	AB	AA	AA	BB	AB	AB	BTCO14709	Big Data Analytics	BC	BC	BC	BTME15701	Renewable Energy Engineering	BB	BB	BB	162	19	8.53	19	0	Pass	0	148	148	1399	9.45	
51	ET22BTCO054	Khimani Kunj Rudalal	AA	AB	BB	BB	AB	AA	AA	BB	AB	CD	CD	AB	AA	AA	AB	AA	BB	AB	AB	BTCO14709	Big Data Analytics	AB	AB	AB	BTCL15703	Smart Transportation Planning	BB	AB	AB	173	19	9.11	19	0	Pass	0	148	148	1351	9.13	
52	ET22BTCO055	Khunt Divya Alpehbhai	BB	AB	AB	AB	AB	AB	AA	AA	BB	AA	BC	BC	BB	AB	AB	BB	AB	AB	AB	AB	BTCO14708	Deep Learning	AB	AA	AA	BTCL15701	Fundamentals of Climate Change	AB	BC	BB	175	19	9.21	19	0	Pass	0	148	148	1388	9.38
53	ET22BTCO056	Khushee Maru	AA	AB	BB	AA	AA	AB	AA	AB	AA	CC	CC	AA	AB	AA	AA	AB	AB	AB	AA	BTCO14709	Big Data Analytics	BB	AB	AB	BTME15701	Renewable Energy Engineering	BC	CC	BC	178	19	9.37	19	0	Pass	0	148	148	1369	9.25	
54	ET22BTCO057	Krish Kalaria	AB	AB	BB	BB	AB	BB	AA	BB	AB	BC	BC	AB	AA	AA	AA	AB	AB	AA	AA	BTCO14708	Deep Learning	BC	AB	AB	BTEL15701	Renewable Energy Sources	BC	CC	BC	170	19	8.95	19	0	Pass	0	148	148	1370	9.26	

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

D. Shrivastava

[Signature]

[Signature]

[Signature]



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering



Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4					4					0		2				3					3					Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Compiler Design[BTCL13701]					Software Engineering[BTCL13702]					Indian Constitution[BTMD17701]		Project-I[BTCL16706]				Cloud Computing[BTCL14704]					Professional Elective-V BTCL14708/BTCL14709 Deep Learning/Big Data Analytics																Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries				
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code												Course Name	CAT	TEE	Course Grade	
55	ET22BTCO059	MALEK ZUVERIABANU MAHMAD ASIF	AA	AB	AB	AA	AA	AB	AA	BB	AA	AB	BC	BC	AB	BB	AB	AA	AB	AB	AA	BTCL14708	Deep Learning	AA	BB	AB	BTEL15701	Renewable Energy Sources	BC	BC	BC	172	19	9.05	19	0	Pass	0	148	148	1393	9.41		
56	ET22BTCO060	Malhar Paresh Mangtani	AA	AB	AA	AB	AA	AB	AA	BB	AA	AB	BC	BC	AA	BB	AB	BB	AA	AB	AB	BTCL14708	Deep Learning	AB	AA	AA	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	BB	AB	178	19	9.37	19	0	Pass	0	148	148	1376	9.30		
57	ET22BTCO061	Manendrasinh V Jadeja	AB	AA	BC	AB	AB	AA	AA	BB	AA	AA	CC	CC	AA	AA	AA	AA	AA	AA	AA	BTCL14708	Deep Learning	BB	BC	BB	BTCL15703	Smart Transportation Planning	AA	BB	AB	177	19	9.32	19	0	Pass	0	148	148	1249	8.44		
58	ET22BTCO062	Manthan Jitendra Lad	AB	AB	AA	AB	AA	BB	AA	AB	AB	AB	CC	CC	AA	AA	AA	AA	AA	AB	AA	BTCL14708	Deep Learning	BB	BB	BB	BTCL15703	Smart Transportation Planning	BC	AB	AB	177	19	9.32	19	0	Pass	0	148	148	1374	9.28		
59	ET22BTCO063	Matariya Darshkumar Hasmukhbhai	AA	AB	AB	BB	AA	BB	AA	AB	AA	AA	BC	BC	AB	AB	AB	AA	AA	BB	BB	AB	BTCL14708	Deep Learning	AB	AB	AB	BTEL15701	Fundamentals of Climate Change	AB	BB	AB	179	19	9.42	19	0	Pass	0	148	148	1407	9.51	
60	ET22BTCO064	Mehta Heer Tusharbhaji	AA	AB	BB	AB	AB	AB	BB	BB	AB	AB	CD**	CD	BB	BB	BB	AB	AB	BC	AB	AB	BTCL14709	Big Data Analytics	BB	AB	AB	BTME15701	Renewable Energy Engineering	CC	CC	CC	160	19	8.42	19	0	Pass	0	148	148	1247	8.43	
61	ET22BTCO065	Mishra Shivam Ramkripal	AA	AB	AB	AB	AA	AA	AA	AB	AB	AA	BB	BB	AB	AB	AB	AA	AA	AB	AB	AA	BTCL14708	Deep Learning	AB	AA	AA	BTEL15701	Fundamentals of Climate Change	AA	BB	AB	185	19	9.74	19	0	Pass	0	148	148	1463	9.89	
62	ET22BTCO066	Mistry Smit Sarjukumar	AA	AB	AB	AA	AA	BB	AB	CC	AB	BB	CD	CD	AB	AA	AA	AB	AB	CC	BB	BB	BTCL14708	Deep Learning	BB	CC	BC	BTCH15701	Safety, Health and Environment in Chemical Industries	BC	CC	BC	158	19	8.32	19	0	Pass	0	148	148	1278	8.64	
63	ET22BTCO067	Mistry Yash Kirankumar	AB	AB	BB	AB	AB	AA	BB	AB	AB	CC	CC	AA	BB	AB	AB	AB	BB	BB	AB	BTCL14708	Deep Learning	BB	BC	BB	BTEL15701	Renewable Energy Sources	BC	BC	BC	162	19	8.53	19	0	Pass	0	148	148	1345	9.09		
64	ET22BTCO068	Monpara Nandini Dharmendrabhai	AA	AB	BC	AB	AB	AA	BB	AB	AB	AB	AB	AB	AB	BB	AB	AA	AB	AB	AA	BTCL14708	Deep Learning	AB	BB	AB	BTCL15703	Smart Transportation Planning	AA	AA	AA	177	19	9.32	19	0	Pass	0	148	148	1359	9.18		
65	ET22BTCO069	Nasriwala Jay Sagarkumar	AB	AA	BB	AB	AB	AA	BB	AB	AB	CC	CC	AA	BB	AB	AB	AA	AB	AB	AA	BTCL14708	Deep Learning	AB	BB	AB	BTEL15701	Fundamentals of Climate Change	AA	CD	BC	168	19	8.84	19	0	Pass	0	148	148	1366	9.23		
66	ET22BTCO070	Nimavat Aryankumar Bharatbhai	AA	AB	CC	BB	BB	AA	BB	AB	AB	CD	CD	AA	AB	AA	AA	AA	BC	AB	AB	BTCL14709	Big Data Analytics	BB	BB	BB	BTEL15701	Renewable Energy Sources	CC	CC	CC	157	19	8.26	19	0	Pass	0	148	148	1267	8.56		
67	ET22BTCO071	Nirmit Sureshbhai Goti	AB	AB	BC	BB	BB	BB	CC	AB	BB	CD	CD	AB	CC	BB	AB	BB	BB	BB	AB	BTCL14709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	CD	BC	BC	155	19	8.16	19	0	Pass	0	148	148	1159	7.83		
68	ET22BTCO072	Oza Meet Nitinkumar	AA	AA	AA	AA	AA	AA	AA	AB	AA	AB	AB	AB	AA	AA	AA	AA	AA	AA	AA	BTCL14709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	BB	AB	AB	187	19	9.84	19	0	Pass	0	148	148	1421	9.60		
69	ET22BTCO073	Paneliya Nirav Alpeshkumar	AB	AB	CC	AB	BB	BB	BC	AB	BB	CC	CC	CC	BB	BB	BB	BB	AA	CC	BB	BB	BTCL14709	Big Data Analytics	BC	BB	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	146	19	7.68	19	0	Pass	0	148	148	1180	7.97	
70	ET22BTCO074	Panseriya Hasti Jitendrabhai	AB	AA	AB	AB	AA	AA	AA	BB	AB	AB	BB	BB	AB	BB	AB	AA	AB	AB	AA	BTCL14709	Big Data Analytics	AB	AA	AA	BTCH15701	Safety, Health and Environment in Chemical Industries	BB	BB	BB	178	19	9.37	19	0	Pass	0	148	148	1371	9.26		
71	ET22BTCO075	Panwala Krishna Manish	AA	AA	AB	AA	AA	AA	AA	AA	AA	BC	BC	AA	AA	AA	AA	AA	AA	AA	AA	BTCL14709	Big Data Analytics	AA	AA	AA	BTEL15701	Smart Transportation Planning	AA	AB	AA	190	19	10.00	19	0	Pass	0	148	148	1451	9.80		

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

(Handwritten signatures and marks)



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering



Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4					4					0		2				3				3				Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI							
			Compiler Design[BTCO13701]					Software Engineering[BTCO13702]					Indian Constitution[BTMD17701]		Project-I[BTCO16706]				Cloud Computing[BTCO14704]				Professional Elective-V BTCO14708/BTCO14709 Deep Learning/Big Data Analytics															Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries						
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE												Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	
72	ET22BTCO076	Panwala Meet Jigneshkumar	AA	AB	BC	AA	AB	AA	AB	AB	AA	BB	BB	AB	AB	AB	AA	AA	AA	AB	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTME15701	Renewable Energy Engineering	BB	BB	BB	178	19	9.37	19	0	Pass	0	148	148	1383	9.34		
73	ET22BTCO077	Parekh Manan Hitenbhai	AB	AA	BB	AA	AB	BB	AA	BB	AB	AB	BB	BB	BB	AB	AB	AB	AA	AA	AB	AB	AA	BTCO14708	Deep Learning	AB	BB	AB	BTCL15703	Smart Transportation Planning	AB	BB	AB	174	19	9.16	19	0	Pass	0	148	148	1385	9.36
74	ET22BTCO078	Parekh Swayam Vipul	BC	AA	BB	AB	AB	BB	AA	BC	AB	AB	BB	CC	CC	AB	AB	AB	AB	AA	BB	AA	AB	BTCO14709	Big Data Analytics	BB	BB	BB	BTME15701	Renewable Energy Engineering	BB	CC	BC	162	19	8.53	19	0	Pass	0	148	148	1332	9.00
75	ET22BTCO079	Parmar Dev Jayeshbhai	BC	AB	AB	BB	AB	BB	AA	BB	AA	AB	BB	CC	CC	AB	AB	AB	AB	AA	BB	AB	AB	BTCO14709	Big Data Analytics	BB	BB	BB	BTEL15701	Renewable Energy Sources	CC	CC	CC	159	19	8.37	19	0	Pass	0	148	148	1222	8.26
76	ET22BTCO080	Parmar Yasvi Anilkumar	AB	AA	AA	AB	AA	BB	AA	BB	BB	AB	BB	BC	BC	AB	BB	AB	AA	AA	AA	AB	AA	BTCO14709	Big Data Analytics	BC	AB	AB	BTCL15703	Smart Transportation Planning	AB	AA	AA	181	19	9.53	19	0	Pass	0	148	148	1378	9.31
77	ET22BTCO081	Parth Lathiya	BB	AA	CD	AB	BB	AB	AA	BC	AA	AB	BB	CD **	CD	AA	AB	AA	AB	AA	CC	AA	AB	BTCO14709	Big Data Analytics	BC	CC	BC	BTME15701	Renewable Energy Engineering	BC	CD	CC	154	19	8.11	19	0	Pass	0	148	148	1165	7.87
78	ET22BTCO082	Parva Shah	BB	AB	CC	AB	BB	AA	BB	BB	AB	BB	CD	CD	AB	AB	AB	BB	AB	CC	AB	BB	BTCO14709	Big Data Analytics	BC	BB	BB	BTME15701	Renewable Energy Engineering	CC	CD	CC	152	19	8.00	19	0	Pass	0	148	148	1228	8.30	
79	ET22BTCO083	Patel Aadyanshi Vipulbhai	AB	AB	BB	AB	AB	AA	AA	AA	AA	AA	AA	BB	BB	AB	AA	AA	AA	AA	AA	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTEL15701	Renewable Energy Sources	BB	BB	BB	180	19	9.47	19	0	Pass	0	148	148	1373	9.28
80	ET22BTCO084	Patel Arya Hiteshbhai	AA	AB	AB	BB	AA	BB	AA	BB	AA	AB	BB	BB	BB	BB	BB	BB	AA	AA	AB	AB	AA	BTCO14709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	BC	BC	BC	170	19	8.95	19	0	Pass	0	148	148	1320	8.92
81	ET22BTCO085	Patel Aum Mukeshbhai	BC	AB	CC	AB	BB	BC	BC	BB	AA	BB	BB	BC	BC	AA	AB	AA	AA	AA	BB	AA	AA	BTCO14708	Deep Learning	BC	CC	BC	BTCL15703	Smart Transportation Planning	BC	AB	AB	162	19	8.53	19	0	Pass	0	148	148	1250	8.45
82	ET22BTCO087	Patel Dhruvil Naineshbhai	AA	AB	BB	AB	AB	BB	AA	BC	BB	BB	BB	CC	CC	BB	AB	AB	AA	AA	BC	AB	AB	BTCO14709	Big Data Analytics	AB	AA	AA	BTCL15703	Smart Transportation Planning	BB	BB	BB	167	19	8.79	19	0	Pass	0	148	148	1261	8.52
83	ET22BTCO088	Patel Divij Nilesbhai	BB	AA	BC	BB	BB	AA	AA	BB	AB	AB	BB	CC	CC	BB	BC	BB	AB	AA	BB	AB	AB	BTCO14708	Deep Learning	AB	CC	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	153	19	8.05	19	0	Pass	0	148	148	1184	8.00
84	ET22BTCO089	Patel Fenil Manojbhai	AB	AB	BC	BB	BB	AB	AA	BC	AB	AB	BB	BC	BC	AA	AB	AA	AA	AA	AB	AA	AA	BTCO14709	Big Data Analytics	BB	AB	AB	BTCL15703	Smart Transportation Planning	AB	AB	AB	172	19	9.05	19	0	Pass	0	148	148	1201	8.11
85	ET22BTCO090	Patel Hasmit Ashokkumar	AA	AB	BC	AA	AB	AB	AA	BB	BB	AB	BB	CC	CC	AB	AB	AB	AB	AA	BC	AB	AB	BTCO14708	Deep Learning	AB	BB	AB	BTEL15701	Renewable Energy Sources	CC	CC	CC	162	19	8.53	19	0	Pass	0	148	148	1335	9.02
86	ET22BTCO091	Patel Hetvi Vigneshbhai	AA	AA	AB	AA	AA	AB	AA	AB	AA	AA	AA	BC	BC	AA	BB	AB	AA	AA	AA	AA	AA	BTCO14708	Deep Learning	AA	BB	AB	BTCL15703	Smart Transportation Planning	BB	AB	AB	182	19	9.58	19	0	Pass	0	148	148	1354	9.15
87	ET22BTCO092	Patel Jiya Pareshbhai	AA	AA	AB	AA	AA	BB	AA	BC	AB	AB	BB	BC	BC	AB	AA	AA	AA	AA	BB	BB	AB	BTCO14709	Big Data Analytics	BB	AB	AB	BTME15701	Renewable Energy Engineering	BB	BB	BB	174	19	9.16	19	0	Pass	0	148	148	1305	8.82
88	ET22BTCO093	Patel Krish Vijaykumar	AA	AA	BB	AA	AA	AB	AA	AB	AA	AA	AA	BB	BB	AB	AA	AA	AA	AA	BB	AA	AA	BTCO14708	Deep Learning	AB	BB	AB	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	BB	AB	184	19	9.68	19	0	Pass	0	148	148	1363	9.21
89	ET22BTCO095	Patel Krishkumar Viral	CC	AB	CD	AA	BC	BC	AA	BC	BB	BB	BB	CD	CD	AB	BB	AB	BB	AA	CC	BB	BB	BTCO14708	Deep Learning	BC	CD	CC	BTME15701	Renewable Energy Engineering	CC	CD	CC	138	19	7.26	19	0	Pass	0	148	148	1207	8.16

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Dhruvil

[Signature]

[Signature]

Pongdhit



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering
Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result



Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4					4					0		2				3				3				3			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI			
			Compiler Design[BTCL13701]					Software Engineering[BTCL13702]					Indian Constitution[BTMD17701]		Project-[BTCL16706]				Cloud Computing[BTCL14704]				Professional Elective-V BTCL14708/BTCL14709 Deep Learning/Big Data Analytics				Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries																
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	Course Code	Course Name												CAT	TEE	Course Grade
90	ET22BTCO096	Patel Mann Yogeshbhai	AB	AA	BC	AA	AB	BB	AA	AB	AB	AB	BC	BC	AB	AA	AA	AB	AA	BB	AA	AB	BTCL14708	Deep Learning	BB	BC	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	BB	AB	170	19	8.95	19	0	Pass	0	148	148	1366	9.23
91	ET22BTCO097	Patel Meert Manoj	BB	AB	BB	AA	AB	BB	AA	AB	AB	AB	CC	CC	AB	BB	AB	AB	AA	BB	AB	AB	BTCL14708	Deep Learning	BC	CC	BC	BTEL15701	Renewable Energy Sources	CD	CD	CD	153	19	8.05	19	0	Pass	0	148	148	1219	8.24
92	ET22BTCO098	Patel Parthkumar Kiritbhai	AA	AB	BB	AB	AB	AA	AA	BB	AA	AA	BC	BC	AB	AB	AB	AB	AA	BC	AB	AB	BTCL14708	Deep Learning	AA	BB	AB	BTCL15703	Smart Transportation Planning	BB	BC	BB	172	19	9.05	19	0	Pass	0	148	148	1345	9.09
93	ET22BTCO099	Patel Rudra Navinkumar	BC	BB	CD	BC	BC	BB	AB	CC	BC	BB	BC	BC	BB	BB	BB	BB	AB	CC	BB	BB	BTCL14709	Big Data Analytics	BC	BC	BC	BTEL15701	Renewable Energy Sources	CD	CD	CD	136	19	7.16	19	0	Pass	0	148	148	1125	7.60
94	ET22BTCO100	Patel Shreya Bipinbhai	AA	AA	AA	AA	AA	AA	AA	AB	AA	AA	BC	BC	AA	AA	AA	AA	AA	BB	AA	AA	BTCL14709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	BB	BB	BB	184	19	9.68	19	0	Pass	0	148	148	1432	9.68
95	ET22BTCO102	Patel Srushti Niranjana	AA	AA	BB	AA	AA	AB	AA	AB	BB	AB	BB	BB	AB	BB	AB	AB	AA	BB	AB	AB	BTCL14709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	BC	CD	CC	166	19	8.74	19	0	Pass	0	148	148	1360	9.19
96	ET22BTCO103	Patel Vidhikumari Shirishbhai	AA	AB	AB	AB	AA	CC	AA	BB	BC	BB	BC	BC	BB	AB	AB	AB	AA	BB	AB	AB	BTCL14708	Deep Learning	BC	BB	BB	BTME15701	Renewable Energy Engineering	BB	BB	BB	165	19	8.68	19	0	Pass	0	148	148	1254	8.47
97	ET22BTCO105	Prajapati Aksharkumar Vishnukumar	CC	BB	BC	AB	BB	CC	AB	CC	AA	BB	CC	CC	BB	AB	AB	BC	AB	BC	AB	BB	BTCL14709	Big Data Analytics	BC	AA	AB	BTCH15701	Safety, Health and Environment in Chemical Industries	CC	BC	BC	154	19	8.11	19	0	Pass	0	148	148	1060	7.16
98	ET22BTCO106	Prajapati Aryan Rameshbhai	CC	AB	AA	BB	AB	BB	AB	BB	AB	AB	BB	BB	AB	AA	AA	AA	AA	CC	AB	AB	BTCL14709	Big Data Analytics	BB	BB	BB	BTEL15701	Fundamentals of Climate Change	AA	AA	AA	173	19	9.11	19	0	Pass	0	148	148	1318	8.91
99	ET22BTCO107	Purohit Harsh Ashokbhai	AA	AB	AB	BB	AA	BB	AA	AB	BC	AB	CC	CC	AB	AB	AB	BB	AA	BC	AA	AB	BTCL14708	Deep Learning	BC	CC	BC	BTEL15701	Renewable Energy Sources	CC	BC	BC	163	19	8.58	19	0	Pass	0	148	148	1245	8.41
100	ET22BTCO108	Rangoonwala Jay Mukeshkumar	AA	AB	AB	AB	AA	BB	AA	AB	AB	AB	BC	BC	BB	BB	BB	AB	AA	BB	AB	AB	BTCL14709	Big Data Analytics	BB	BB	BB	BTCL15703	Smart Transportation Planning	AB	AB	AB	170	19	8.95	19	0	Pass	0	148	148	1334	9.01
101	ET22BTCO110	Riddhi Ketanbhai Patel	AB	AA	AB	AA	AA	AB	AA	AB	AB	AA	BC	BC	AA	AA	AA	AB	AA	BB	AB	AB	BTCL14709	Big Data Analytics	BB	AB	AB	BTCL15703	Smart Transportation Planning	AB	AB	AB	181	19	9.53	19	0	Pass	0	148	148	1352	9.14
102	ET22BTCO111	Ritu Ajaybhai Vamja	AA	AB	AB	BB	AA	BC	AB	CC	BB	BB	BB	BB	AB	AA	AA	AB	AA	BB	AB	AB	BTCL14708	Deep Learning	BB	AB	AB	BTEL15701	Fundamentals of Climate Change	AA	BB	AB	173	19	9.11	19	0	Pass	0	148	148	1313	8.87
103	ET22BTCO112	Rathod Dev Manjibhai	AB	AB	CC	BC	BB	BC	AA	CC	BB	BB	CC	CC	BB	BC	BB	BC	AB	CD	BC	BC	BTCL14709	Big Data Analytics	CC	AB	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	CC	CC	CC	143	19	7.53	19	0	Pass	0	148	148	1076	7.27
104	ET22BTCO113	Sadisatsowala Dev Kiritkumar	BB	AA	AA	AA	AA	AB	AA	AA	AA	AA	BC	BC	AA	AA	AA	AA	AA	AB	AA	AA	BTCL14709	Big Data Analytics	AB	AA	AA	BTCL15703	Smart Transportation Planning	AB	BB	AB	187	19	9.84	19	0	Pass	0	148	148	1372	9.27
105	ET22BTCO114	Sameer Dhotra	BB	BB	BC	BB	BB	AB	AB	CC	BB	BB	BC	BC	BC	BB	BB	BC	AB	BC	BB	BB	BTCL14709	Big Data Analytics	BC	BB	BB	BTEL15701	Renewable Energy Sources	CC	BC	BC	149	19	7.84	19	0	Pass	0	148	148	1148	7.76
106	ET22BTCO116	Santoki Tusharkumar Rajeshbhai	AA	AB	BB	BB	AB	AB	AA	BC	BC	BB	CC	CC	BB	AB	AB	AB	AA	BC	BB	AB	BTCL14708	Deep Learning	BB	BC	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	BB	CC	BC	158	19	8.32	19	0	Pass	0	148	148	1272	8.59

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

(Handwritten signatures and marks)



Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4				4				0		2		3				3				3			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bklg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI								
			Compiler Design[BTCE13701]				Software Engineering[BTCE13702]				Indian Constitution[BTMD17701]		Project-[BTCE16706]		Cloud Computing[BTCE14704]				Professional Elective-V BTCE14708/BTCE14709 Deep Learning/Big Data Analytics				Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries																					
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAT	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT												TEE	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade	
107	ET22BTCE117	Shah Kriya Jigneshkumar	AA	AA	AB	AB	AA	AB	AA	AB	AA	AB	AB	AA	AB	AB	AB	AA	AA	AA	AB	AA	BTCE14709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	AA	AA	AA	190	19	10.00	19	0	Pass	0	148	148	1438	9.72	
108	ET22BTCE118	Shah Viraj Satishkumar	AA	AA	AA	AA	AA	AA	AB	AB	AA	AB	AB	AA	AB	AB	AB	AA	AA	AA	AB	AB	AA	BTCE14709	Big Data Analytics	AA	AA	AA	BTCH15701	Safety, Health and Environment in Chemical Industries	AB	BC	BB	184	19	9.68	19	0	Pass	0	148	148	1407	9.51
109	ET22BTCE119	Shekhaliya Parv Bharatbhai	AA	AB	BB	BB	AB	BB	AA	AB	AA	CC	CC	BB	BB	BB	AA	AA	BC	AB	AB	BTCE14709	Big Data Analytics	AB	CC	BB	BTEL15701	Renewable Energy Sources	CC	BC	BC	164	19	8.63	19	0	Pass	0	148	148	1254	8.47		
110	ET22BTCE120	Shruti Jitendra Gajera	AA	AB	BC	AB	AB	BB	AA	AB	AA	CC	CC	AB	AA	AA	AB	AA	BB	BB	AB	BTCE14709	Big Data Analytics	BB	BC	BB	BTEL15701	Renewable Energy Sources	BB	CD	BC	168	19	8.84	19	0	Pass	0	148	148	1293	8.74		
111	ET22BTCE121	Sojitra Aryan Dilipbhai	AA	AB	AB	AB	AA	BC	AA	AB	BC	CC	CC	BB	AB	AB	BB	AB	BC	AB	BB	BTCE14708	Deep Learning	BC	CC	BC	BTEL15701	Renewable Energy Sources	BC	BC	BC	160	19	8.42	19	0	Pass	0	148	148	1226	8.28		
112	ET22BTCE122	Solanki Dhyani Kamleshbhai	AA	AB	AB	AB	AA	BB	AA	BB	AB	BC	BC	AB	AA	AA	AA	AA	AB	AB	AA	BTCE14709	Big Data Analytics	AA	AA	AA	BTCL15701	Fundamentals of Climate Change	AA	BB	AB	183	19	9.63	19	0	Pass	0	148	148	1362	9.20		
113	ET22BTCE123	Solanki Kishan Mansukhbhai	BB	AB	AB	BB	AB	AB	AA	AB	BB	BC	BC	BB	AA	AA	AB	AA	AB	AB	AA	BTCE14708	Deep Learning	BB	BB	BB	BTCL15701	Fundamentals of Climate Change	AA	AA	AA	176	19	9.26	19	0	Pass	0	148	148	1333	9.01		
114	ET22BTCE124	Solanki Meet Sureshbhai	BB	AB	CC	BB	BB	AB	BC	AB	BB	BC	BC	BB	BB	BB	AB	AA	CC	BB	BB	BTCE14709	Big Data Analytics	BB	BB	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	146	19	7.68	19	0	Pass	0	148	148	1109	7.49		
115	ET22BTCE125	Surati Nirav Jayeshbhai	BC	BB	CD	BB	BC	BB	AB	CC	BB	CD	CD	BB	AB	AB	AB	AA	BC	AB	AB	BTCE14709	Big Data Analytics	BC	BC	BC	BTEL15701	Renewable Energy Sources	CC	CC	CC	144	19	7.58	19	0	Pass	0	148	148	1098	7.42		
116	ET22BTCE126	Sutariya Aryankumar Manubhai	BB	BB	BC	AB	BB	AB	AA	BB	BB	CC	CC	BB	AA	AA	AB	AA	BB	AB	AB	BTCE14708	Deep Learning	AB	CC	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	BC	BC	BC	160	19	8.42	19	0	Pass	0	148	148	1317	8.90		
117	ET22BTCE128	Talaviya Utsav Pravinbhai	BB	AB	BB	BB	AB	AB	AB	AA	AA	BB	BB	AB	BB	AB	AB	AB	BB	AB	AB	BTCE14709	Big Data Analytics	BB	AA	AA	BTEL15701	Renewable Energy Sources	CD	BB	BC	172	19	9.05	19	0	Pass	0	148	148	1299	8.78		
118	ET22BTCE129	Tandel Tisha Devendrakumar	AA	AA	AB	AA	AA	AA	AB	AA	AA	BC	BC	AA	AA	AA	AA	AA	AA	AA	AA	BTCE14709	Big Data Analytics	AB	AB	AB	BTME15701	Renewable Energy Engineering	AB	AA	AA	187	19	9.84	19	0	Pass	0	148	148	1401	9.47		
119	ET22BTCE130	Tanzim Mansoori	AA	AA	AA	AA	AA	AA	AB	AA	AA	BB	BB	AB	AA	AA	AA	AA	AA	AB	AA	BTCE14708	Deep Learning	AB	BB	AB	BTME15701	Renewable Energy Engineering	BB	BB	BB	181	19	9.53	19	0	Pass	0	148	148	1339	9.05		
120	ET22BTCE132	Tejani Krish Bharatbhai	AA	AA	AB	AA	AA	AA	AB	AB	AA	BB	BB	AA	AA	AA	AA	AA	AB	AA	AA	BTCE14708	Deep Learning	BB	AA	AA	BTCL15703	Smart Transportation Planning	AB	AA	AA	190	19	10.00	19	0	Pass	0	148	148	1435	9.70		
121	ET22BTCE133	Tiwari Satyam Ratneshkumar	AA	AA	AB	AA	AA	AA	AA	AA	AA	BB	BB	AA	AA	AA	AA	AA	AB	AA	AA	BTCE14708	Deep Learning	AA	AA	AA	BTCL15703	Smart Transportation Planning	BB	AB	AB	187	19	9.84	19	0	Pass	0	148	148	1459	9.86		
122	ET22BTCE134	Trivedi Devanshi Kalpeshbhai	BB	AA	BC	AA	AB	BB	AA	BB	AA	BB	BB	AB	BB	BB	AA	AA	AA	BB	AB	BTCE14709	Big Data Analytics	AB	AA	AA	BTEL15701	Renewable Energy Sources	BB	CD	BC	170	19	8.95	19	0	Pass	0	148	148	1393	9.41		
123	ET22BTCE135	Ukani Darshan Pareshbhai	AB	BB	BB	AB	AB	AB	AB	AB	AB	CC	CC	BB	AB	AB	AA	AB	CC	BB	BB	BTCE14709	Big Data Analytics	BB	BC	BB	BTCL15703	Smart Transportation Planning	CC	BC	BC	159	19	8.37	19	0	Pass	0	148	148	1316	8.89		
124	ET22BTCE136	Vaghani Dev Ashvinbhai	AB	BB	BC	AB	AB	AA	AB	BB	AB	BC	BC	BB	BB	BB	AB	AB	BC	AB	AB	BTCE14709	Big Data Analytics	BB	BB	BB	BTEL15701	Renewable Energy Sources	CC	CC	CC	157	19	8.26	19	0	Pass	0	148	148	1169	7.90		

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering



Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4					4					0		2			3				3			3			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Compiler Design[BTCO13701]					Software Engineering[BTCO13702]					Indian Constitution[BTMD17701]		Project-I[BTCO16706]			Cloud Computing[BTCO14704]				Professional Elective-V BTCO14708/BTCO14709 Deep Learning/Big Data Analytics			Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries																		
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade												Course Code	Course Name	CAT	TEE	Course Grade
125	ET22BTCO137	Vaghasiya Roshan Hareshbhai	AB	AA	BB	AB	AB	AB	BB	AB	CC	CC	AB	AA	AA	AA	AA	AB	AA	AA	BTCO14708	Deep Learning	AB	AB	AB	BTCL15701	Fundamentals of Climate Change	AA	CD	BC	170	19	8.95	19	0	Pass	0	148	148	1407	9.51		
126	ET22BTCO138	Vaidehi Lad	AA	AA	NA	AA	FF	AA	AA	AA	AB	AA	BB	BB	AB	BB	AB	AA	AA	AA	AB	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	AA	BB	AB	145	19	7.63	15	1	Fail	S7:1	148	144	1408	9.51
127	ET22BTCO139	Vasava Chirag Miteshbhai	BB	AB	CD	BB	BC	BC	AB	BC	BB	BB	CD	CD	BB	BB	BB	BC	AB	BC	BC	BB	BTCO14709	Big Data Analytics	BC	BB	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	142	19	7.47	19	0	Pass	0	148	148	1068	7.22
128	ET22BTCO140	Vasava Jenil Nileshkumar	BB	AB	CD	AB	BB	AB	AB	AA	AB	BC	BC	AB	BB	AB	BB	AB	BB	BB	AB	BTCO14708	Deep Learning	BC	BC	BC	BTEL15701	Renewable Energy Sources	BC	CC	BC	155	19	8.16	19	0	Pass	0	148	148	1118	7.55	
129	ET22BTCO141	Vasava Shreyasiben Maganbhai	AA	AB	AB	AA	AA	BB	AA	BB	AA	AB	BB	BB	AB	AA	AA	BB	AA	BB	BB	AB	BTCO14708	Deep Learning	BB	BB	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	BC	BB	BB	171	19	9.00	19	0	Pass	0	148	148	1280	8.65
130	ET22BTCO142	Vasoya Om Maheshbhai	BB	AB	BC	AB	BB	AB	BC	AB	BB	BB	BB	BB	AB	AB	AB	BC	AA	AB	BTCO14709	Big Data Analytics	BC	BB	BB	BTCL15703	Smart Transportation Planning	BC	AB	AB	160	19	8.42	19	0	Pass	0	148	148	1253	8.47		
131	ET22BTCO143	Vekariya Krishnaben Jayeshbhai	AB	AB	BC	AB	AB	BC	AA	BC	AB	BB	CC	CC	AB	BB	AB	AB	AA	BC	BB	AB	BTCO14709	Big Data Analytics	BB	AB	AB	BTCL15703	Smart Transportation Planning	AA	AB	AA	170	19	8.95	19	0	Pass	0	148	148	1323	8.94
132	ET22BTCO701	Anika Mehta	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	AB	AB	AB	AA	AA	AA	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTCL15701	Fundamentals of Climate Change	AA	AA	AA	188	19	9.89	19	0	Pass	0	106	106	1054	9.94	
133	ET22BTCO702	TAILOR JAINIL KRUSHNAVADAN	AB	AA	AB	AA	AA	AB	AA	AB	AA	AA	BC	BC	AA	AB	AA	AA	AB	AA	AA	BTCO14709	Big Data Analytics	AA	AB	AA	BTCL15703	Smart Transportation Planning	BB	AA	AA	190	19	10.00	19	0	Pass	0	106	106	1025	9.67	
134	ET22BTCO809	Meet Sanghvi	CC	BB	CC	BB	BC	CC	AA	BB	AB	BB	CC	CC	AB	BB	AB	CC	AA	BB	BC	BB	BTCO14708	Deep Learning	BC	BB	BB	BTEL15701	Renewable Energy Sources	CC	CD	CC	144	19	7.58	19	0	Pass	0	106	106	836	7.89
135	ET23BTCO801	Ankola Shrey Jayeshbhai	AB	AB	BB	BB	AB	AB	AA	BC	AA	AB	BC	BC	AB	BC	BB	AB	AA	BB	BB	AB	BTCO14709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	CC	CC	CC	160	19	8.42	19	0	Pass	0	106	106	910	8.58
136	ET23BTCO802	Borad Himanshi Umeshbhai	AA	AA	AB	AA	AA	AA	AA	AA	AA	BB	BB	AB	AB	AB	AA	AA	AA	AB	AA	BTCO14709	Big Data Analytics	AB	AA	AA	BTEL15701	Renewable Energy Sources	BB	BB	BB	182	19	9.58	19	0	Pass	0	106	106	1044	9.85	
137	ET23BTCO803	Maktuporia Dhvani Mehulbhai	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AA	AB	AB	AB	AA	AA	AA	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTME15701	Renewable Energy Engineering	AB	AA	AA	188	19	9.89	19	0	Pass	0	106	106	1058	9.98	
138	ET23BTCO804	Mehta Dhyata	BB	AB	BB	AA	AB	AB	AA	BC	AA	AB	CC	CC	AA	BB	AB	BB	AA	BB	AB	AB	BTCO14708	Deep Learning	AB	BC	BB	BTCL15703	Smart Transportation Planning	BB	BC	BB	165	19	8.68	19	0	Pass	0	106	106	950	8.96
139	ET23BTCO805	Pandav Harshil Mukeshbhai	BB	BB	BC	AB	BB	BC	AA	BC	AB	BB	CD	CD	BB	AB	AB	BB	AB	BC	BB	BB	BTCO14709	Big Data Analytics	BC	BC	BC	BTEL15701	Renewable Energy Sources	CC	CC	CC	145	19	7.63	19	0	Pass	0	106	106	811	7.65
140	ET23BTCO806	Patel Shreya Bhadrashkumar	AA	AB	BB	AB	AB	AA	AB	AB	AA	BC	BC	AB	AB	AB	AB	AA	BB	BB	AB	BTCO14709	Big Data Analytics	AB	BB	AB	BTEL15701	Renewable Energy Sources	BC	CC	BC	169	19	8.89	19	0	Pass	0	106	106	924	8.72	
141	ET23BTCO808	Vaghela Dhairya Jaykumar	AB	AA	BC	AB	AB	AA	BC	AA	AB	CC	CC	AB	AA	AA	AA	AB	BB	BB	AB	BTCO14708	Deep Learning	AA	BC	AB	BTEL15701	Renewable Energy Sources	CD	CC	CC	164	19	8.63	19	0	Pass	0	106	106	864	8.15	
142	ET23BTCO809	Vaghela Krish Nitinkumar	AB	AA	BC	AB	AB	AA	AB	AA	BB	BB	AB	BB	AB	AA	AA	AB	AA	AA	BTCO14709	Big Data Analytics	AA	AA	AA	BTCL15703	Smart Transportation Planning	BB	AA	AA	184	19	9.68	19	0	Pass	0	106	106	974	9.19		

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Dikshana

[Signature]

[Signature]

Pandav



Sarvajanik University
Sarvajanik College of Engineering and Technology
Bachelor of Technology in Computer Engineering



Winter 2025 Result Exam Final Result Including Results From All Prior Semesters Semester-VII Final Result

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Print On Date: 21/Feb/2026 02:52 PM

Sr No	Enrollment No	Student Name	4					4					0		2			3				3			3			Current Sem Grade points	Total credits in current sem	Current sem SPI	Earned credits in current sem	Current sem bkg	Result	Backlogs	Cumulative Total Credits	Cumulative Earned Credits	Cumulative Grade Points	CPI					
			Compiler Design[BTCO13701]					Software Engineering[BTCO13702]					Indian Constitution[BTMD17701]		Project-I[BTCO16706]			Cloud Computing[BTCO14704]				Professional Elective-V BTCO14708/BTCO14709 Deep Learning/Big Data Analytics			Open Elective-III BTCL15701/BTCL15703/BTEL15701/BTME15701/BTCH15701 Fundamentals of Climate Change/Smart Transportation Planning/Renewable Energy Sources/Renewable Energy Engineering/Safety, Health and Environment in Chemical Industries																		
			CAT	CAP	TEE	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	TEE	Course Grade	CAP	TEP	Course Grade	CAT	CAP	TEE	TEP	Course Grade	Course Code	Course Name	CAT	TEE	Course Grade												Course Code	Course Name	CAT	TEE	Course Grade
143	ET23BTCO810	ASHWANI SAROCH	CD	BB	CD	BB	CC	CC	BC	CC	BC	BC	CD	CD	AB	CC	BB	CC	BC	CD	BC	CC	BTCO14709	Big Data Analytics	BC	CC	BC	BTEL15701	Renewable Energy Sources	FF	CD	FF	107	19	5.63	16	1	Fail	S6: 1, S7: 1	106	99	646	6.09
144	ET23BTCO811	Galchar Fenil Dipakbhai	BC	BB	CC	AB	BB	BB	AA	CC	BB	BB	CC	CC	AB	BC	BB	CC	AB	CC	BB	BC	BTCO14708	Deep Learning	CD	CD	CD	BTEL15701	Renewable Energy Sources	CD	CD	CD	131	19	6.89	19	0	Pass	0	106	106	690	6.51
145	ET23BTCO813	Parmar Dakshsinh Anupsinh	BB	AA	BC	AB	AB	BB	AA	AB	AA	AA	BC	BC	AA	AA	AA	AA	AA	AA	AB	AA	BTCO14709	Big Data Analytics	AB	AB	AB	BTEL15701	Renewable Energy Sources	CD	BC	BC	174	19	9.16	19	0	Pass	0	106	106	882	8.32
146	ET23BTCO814	Parmar Krishna Hiteshbhai	AA	AA	BB	AB	AB	AA	AA	BB	AB	AB	CC	CC	AB	BB	AB	AB	AA	BC	BB	AB	BTCO14709	Big Data Analytics	BB	BC	BB	BTCH15701	Safety, Health and Environment in Chemical Industries	BC	CC	BC	162	19	8.53	19	0	Pass	0	106	106	840	7.92
147	ET23BTCO815	Patel Saemabanu Muzammil	AA	AA	AA	AA	AA	AA	AA	AB	AA	AA	BC	BC	AB	AA	AA	AA	AA	AB	AB	AA	BTCO14708	Deep Learning	AB	AB	AB	BTME15701	Renewable Energy Engineering	BB	AB	AB	184	19	9.68	19	0	Pass	0	106	106	993	9.37
148	ET23BTCO816	Rabadiya Dishali Girishbhai	AA	AA	AB	AA	AA	AB	AA	BC	AA	AB	BB	BB	AB	BB	AB	AB	AA	AB	AB	AA	BTCO14709	Big Data Analytics	BB	AA	AA	BTCL15703	Smart Transportation Planning	BC	AB	AB	181	19	9.53	19	0	Pass	0	106	106	895	8.44
149	ET23BTCO818	Vavliya Arpit Prakashbhai	BC	AB	AB	AB	AB	AB	AA	AB	BB	AB	BC	BC	BB	BB	BB	AB	AA	AB	BB	AB	BTCO14708	Deep Learning	BB	BC	BB	BTEL15701	Renewable Energy Sources	BC	BC	BC	160	19	8.42	19	0	Pass	0	106	106	924	8.72

Notification : SU/EXAM/FinalResultNotification/ W2025Reg_21022026-003

Dhruvi Sharma
Prepared by & Checked by,
Dr. Dhruvi Sharma
SU Exam OSD/Assessment Coordinator

Nimesh Desai
Verified by,
Mr. Nimesh Desai,
SU-Exam Section

Hiren H. Patel
Dr. Hiren H. Patel
Dean/Principal,
SCET, Sarvajanik University

Nilesh Pandya
Dr. Nilesh Pandya
Controller of Examination,
Sarvajanik University